T2 8E88 (1/6~R—)

No. K % - SHE
1 |BRR EER & BER 1,000 3
2 |Ef 1EmR 10,000 3
3 |B4 RRER 10,000 2
4 |BEH B2 K RRER 10,000 2
5 |BRE B & fERR 10,000 4
6 [HB HE & KERAF 20,000 1
7 [EBR 1BE & RRE 10,000 1
8 |HH FE— K =2ILE 10,000 4
9 |4%H Ht & IN=T3 10,000 1
10 [#B5] £ REBIF 10,000 3
n |Ef RRE 10,000 4
12 |REkE MR & 1512 10,000 1
13 | REE kR == 10,000 4
14 [EH BF &K KERAF 10,000 4
15 |mE S8 &% WARR 10,000 4
16 |Ef Bl R 10,000 1
17 |Ef BIHE 10,000 1
18 |Ef RRER 10,000 3
19 |(Ef ZRE 10,000 1
20 |KF BF & BRIRAR 10,000 3
21 |E4 BER 10,000 3
22 |80 EE & BRRAD 10,000 4
23 (HO M % IR 10,000 1
24 |ARE BAK # 5)IE 10,000 3
25 |BEBE ER K FER 10,000 2
26 |E4 BRIRAR 10,000 1
27 |KE AE & FRURED 10,000 4
28 (|l HWE K R 10,000 4
29 (BB JIEE #% KBRF 10,000 4
30 WA B= &% EHE 10,000 1
31 [BA K— & jtiEE 10,000 4
32 |B4 EHE 10,000 3
33 |E4 RRE 10,000 3
34 |E4 BEE 10,000 2
35 [BHE F— &K RRE 10,000 1
36 |[HLE B 1SR 10,000 1
37 |BX BE & BER 10,000 1
38 |LIE BRI A% itiEE 10,000 3
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R % EE T FW (E E
39 |EE HE Kk N1 10,000 1
40 |BH XF Kk BHIR 10,000 4
41 | KT BB AR EHE 10,000 4
42 |E4& 1EmR 10,000 4
43 |E4 RIPE 10,000 1
44 |BRRE PR R 1SR 10,000 1
45 |fEf HIE Kk EER 10,000 2
46 |BlE KT %k RRER 10,000 4
47 |E4 15112 10,000 2
48 |fEIL SER Rk RERRE 20,000 3
49 |TT BAR % EHR 20,000 3
50 |ER Rt & KIRAF 10,000 1
51 |k BR BHIR 10,000 1
52 |BFH BEX =88R 10,000 2
53 AR At AR RRER 10,000 4
54 |TT B kR MR 10,000 1
55 |BE EF &K AR 10,000 1
56 |E#& FER 10,000 1
57 |MAE 1B H K L85 10,000 1
58 |[BF BE K BRIRAR 10,000 3
59 [#EHA HB— &% FER 10,000 1
60 | R A FER 10,000 2
61 |EF #BE &K RRER 10,000 3
62 |HH BB &K EER 10,000 2
63 |HN HF REBF 10,000 3
64 |F BT &K S8 10,000 1
65 |KiE FR&E FRURED 10,000 1
66 |KE HE K BRI AR 10,000 1
67 |EH& RRE 10,000 3
68 |E& BRI AR 10,000

69 |[&F XA &k RIRER 10,000 1
70 |EE NMEE & FRR 10,000 4
71 [8R BE R RRE 10,000 3
72 | WEF K BRI AR 10,000 2
73 B4 FER 10,000 3
74 (B FRURER 10,000 1
75 |BA BA K TRIKE 10,000 1
76 |H)ll RFB FRURER 10,000 4
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77 |E& =91 10,000 1
78 |luih FE— R #MRJINE 30,000 4
79 |E& EER 10,000 4
80 |BRAZx T¥BA A% RRER 10,000 4
81 |k #WZ & FEER 10,000 3
82 |fkEE —1T #% BERR 10,000 3
83 |t&A =HE & N 20,000 2
84 |E# FRURAD 10,000 1
85 |TF3}XK FF =91 10,000 1
86 |E# #MER)IIR 10,000 1
87 |E# RTER 10,000 1
88 |HLE EF FRURAD 10,000 4
89 |&HF % N 10,000 4
2 (AFK E & FRURED 10,000 3
91 |E# FRRED 10,000 2
92 (MAH IBEX % RIRER 20,000 3
93 |E# RRER 10,000 3
% (Ef ABRAF 10,000 1
95 |Ef TRIKER 10,000 3
9% |(fAE FWH K LSE 10,000 4
97 |IA B TRIK R 10,000 3
98 (E& KBRAF 10,000 4
929 |AF AEF *k Iz 2 12 10,000 2
100 |EF B Bk FER 10,000 4
101 [—2 B & BHNR 10,000 2
102 (E#& MR 20,000 4
103 |E% FRURED 10,000 2
104 |RE FTHETF HER 10,000 1
105 |E# MR 30,000 4
106 8 KA IIRE 10,000 1
107 |FEE =T BER 20,000 1
108 (M B— #k 2RI IR 10,000 1
109 |BETa = & #HEE)R 10,000 4
110 {8 Ef #% KBR FF 10,000 4
111 |GERE Kk BER 10,000 1
112 [E# e 10,000 2
13 [AH =& & RRE 10,000 4
14 [#HE B &% E) IR 10,000 1
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115 |[E% FRRER 10,000 4
16 |Fth J& &% TR 10,000 1
117 |EB% BEIE 10,000 4
118 (E% TR IR 10,000 3
119 |E# RTER 10,000 2
120 |BFER BHHEA % TR R 10,000 1
121 |E# FEER 10,000 1
122 |HAR RKE K EER 20,000 1
123 |38 SFEE F BRER 10,000 4
124 (E4 FER 10,000 4
125 |E# RTER 20,000 1
126 (E4 =IRE 10,000 1
127 (B4 FRURER 20,000 1
128 |E# RIRER 10,000 1
129 |E# RRER 10,000 2
130 |75 HEF Bk FERLIE 10,000 1
131 |3l 15 &k BER 10,000 1
132 |E% BER 10,000 3
133 [HF B— IR 10,000 4
134 (E£ RIRED 10,000 1
135 (RREA Bl #% FRURED 10,000 3
136 L BT %k Iz B2 1R 10,000 1
137 (B4 FRURED 10,000 4
138 |E# I 212 20,000 2
139 |E% FRURED 10,000 2
140 (I #2% #% RRE 10,000 1
141 (B4 NS 10,000 2
142 |E#£ ZHE 10,000 4
143 |BH & & RRE 10,000 1
144 |FKIR EEF K SHRBIR 10,000 2
145 |KTF BE & RRE 10,000 2
146 [HO = #% FRURED 10,000 1
147 (B4 ibimE 20,000 3
148 |E#£ ZHE 10,000 2
149 (DR = & FER 10,000 2
150 (AR BUE & E) IR 10,000 1
151 |E# AR 10,000 3
152 [(EH ‘BB #& FRURER 10,000 2
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No. 5 % - SHE
153 [SRIL @z #% RERRE 10,000 3
154 |E# #ME)IR 10,000 1
155 [E#& ZHE 10,000 2
156 |E4# RERRE 10,000 2
157 |E% IN=1= 10,000 1
158 |8k B— #k FER 10,000 2
159 (E£ FER 10,000 1
160 (E4# RIRED 10,000 1
161 (AL —BR %k RRED 10,000 2
162 |BIN BX #k KBRAF 10,000 4
163 |RIN RX #k N 10,000 4
164 |BIN BX #k KBRAF 10,000 4
165 (B4 KERAF 10,000 1
166 |E# RIRER 10,000 1
167 (B4 FRURER 10,000 3
168 |E4 BHME 10,000 2
169 |E# EER 10,000 2
170 |BH J|/X & FRURED 40,000 4
171 |B& B2 IR 10,000 1
172 |EB& AR 10,000 3
173 (B4 FER 10,000 4
174 Il KB &% FRURED 10,000 1
175 | KH =i K TR 20,000 1
176 |E4 BHIR 20,000 4
177 |E4 TFER 10,000 2
178 |E# R 10,000 1
179 |E& HEE)R 10,000 3
180 |E% KPR AF 10,000 1
181 [E& EER 10,000 1
182 [E#& EER 10,000 1
183 |E# EER 10,000 2
184 (B 7N 10,000 1
185 |E# FRiEIR 10,000 1
186 |AKH #FIT *%k =i 10,000 1
187 [kBk =3 #k a2 20,000 4
188 |HFH AR Ak PN 10,000 4
189 (B FRF IR 10,000 2
190 |EB% BEE 20,000 2
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A 55 ﬁ_g i_g T::ﬁg
191 (B4 biEE 10,000 2
192 (Bih EEF K R IR 10,000 4
193 (B4 biEE 10,000 1
194 |E# #ME)IR 10,000 1
195 (B 2RI IR 10,000 1
196 |ZRHE #® #% BER 10,000 2
197 (@0)Il & # =85& 10,000 4
198 |E& R R 10,000 2
199 (B4 Iz 212 10,000 3
200 |SFH AFIL K FER 20,000 4
201 |E& =40 10,000 1
202 (B8 EBA KPR AT 10,000 4
203 |lUA IEVE Ak mBER 10,000 4
204 |E& EER 10,000 3
205 |E% BN 10,000 1
206 |Ef #ME)IIR 10,000 2
207 (AR BF BN 10,000 4
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